
Inköpslista & kapnota
LÄgga tak



Spika råspont

LÄgga underlagspapp



Spika strö och bärläkt

Skruva profilerad takplåt



Råspont				    22x95 					     1100 lpm
Trådspik				    75x2,8					     4 st lådor

Spika Råspont

Lägga underlagspapp

Takpapp med klisterkant		  1x25 m 				    6st
Varmförzinkad pappspik		  75x2,8					    4 st lådor
Asfaltsklister 				    5L					     1 st
Fotplåt					    2000 mm				    10st
Bleckskruv				    4,2x20 mm				    2 frp
Trekantsregel									         6 lpm
Panelbräda 				    21x45			   4x5,1 		  20,4 lpm
Universalskruv 			   4,2x41 mm				    1 frp

Spika strö och bärläkt

Ströläkt/bärläkt			   25x38 	 				    495 lpm
Trådspik				    75x2,8					    1 st låda

Skruva takplåt

Takplåt takpanna 			   1170x3640 				    18 st
Takplåt takpanna 			   1170x2240				    18 st 
Överlappsskruv			   4,8x20 mm				    4 frp
Farmarskruv				    4,8x35 mm				    4 frp
Nockplåt				    2 m					     5 st
Tätband									         20 st
byggsililkon									         20,4 lpm
Ändlock 									         2 st


